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1. Thave $ 500 in a bank account after 4 years of investing at a rate of return of 2.5% {0
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2. In 2000, Florida’s population was 16 million people. Zoyer
Since 2000, the state’s population has grown by 2 % each year. Pd () Jls 1 01
What would you predict Florida’s population to be in 2016? /|, oo® ©90
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3. Since 2002, the cost of patient care in Quebec hospitals has increased by about 4% per year.
In 2002, such hospital costs were an average of $ 968 per day.
What is the approximate cost per day for a patient to stay in a hospital in 2016?
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4. Macdonald High School purchased a new printer for $ 35 000 in the year 2011.
Each year, the printer loses 5 % of its value.

What will the printer’s approximate value be at the end of this year (2017)? 2017
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5. A bacteria culture triples in size every 4 hours.
If the culture starts off with 200 bacteria, how many would be present at the end of 2 full days?
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6. Your uncle deposited $1500 into an account paying 6.5% annual interest when you turned 2

years old. What should the account balance be when you reach your 18" birthday?
(Round your answer to the nearest cent).
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7. An international chess tournament brings out the best players in the world.
This year, there are 2048 competitors playing head-to-head matches.

After each round, the field of competitors is cut in half.
How many players should be left after the seventh round?
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8. The population of a city grows at a rate of 5% per year.
The population in 1990 was 400 000.

How many years should it take for the population to reach over 1 000 000 people?
What year would that be?
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In 2016, Joel has $ 3120.71 in a bank account after 11 years of investing
The average annual rate of return during that time was 9.5%

How much money did Joel start investing with?

How much money would Joel have had in his account in 2013?
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Answer: Joel would have started with $
Answer: Joel would have had $ L B?L’G in 2013.



